Group Quiz E-G



1. What 1s the gravitational force on a 3.40 kg mass in a gravitational
field with a strength of 9.81 N/kg?

1 2 3 4
33.4 Nlkg 1.07E+04 N/C left 1.61 MNikg 1.16E-14 N right
34 1.40E-04 3.2 72100

5.81 1.5 515 1.60E-19



2. A -140. uC charge experiences a force of 1.50 N to the right. What
1s the magnitude and direction of the electric field?

1 2 3 4
33.4 Nlkg 1.07E+04 N/C left 1.61 MNikg 1.16E-14 N right
34 1.40E-04 32 72100

5.81 1.5 515 1.60E-19



3. A 3.20 kg mass on the moon experiences a force of 5.15 N. What
1s the gravitational field strength on the moon?

1 2 3 4
33.4 Nlkg 1.07E+04 N/C left 1.61 MNikg 1.16E-14 N right
34 1.40E-04 32 72100

5.81 1.5 515 1.60E-19



4. A 72,100 N/C electrical field to the right exerts what force on a
proton? (Force and direction)

1 2 3 4
33.4 Nlkg 1.07E+04 N/C left 1.61 MNikg 1.16E-14 N right
34 1.40E-04 3.2 72100

5.81 1.5 515 1.60E-19



5. A proton accelerates North at 9.58x10% m/s/s. What is the
magnitude and direction of the electric field?

5 6 T ]
10.0 N/C Morth S557TEH13 nespam 2.81E+04 N/C Left 3.06

9. 53E+08 317 D.82 1.25E+04

1.67TE-27 5.11E-31 2.10E-06 1.30E-05

1.60E-19 1.60E-19 8. 99E+09 4. 99E+09



6. An electron is in a 317 N/C electric field to the West. What is the
magnitude and direction of its acceleration?

5 6 T ]
10.0 N/C Morth EATEHI oseam 2.81E+04 N/C Left 3.06

9. 53E+08 317 D.82 1.25E+04

1.67TE-27 5.11E-31 2.10E-06 1.30E-05

1.60E-19 1.60E-19 8. 99E+09 4. 99E+09



7. What 1s the electrical field 82.0 cm to the right of a -2.10 uC
charge? (Magnitude and direction)

5 6 T ]
10.0 N/C Morth S557TEH13 nespam 2.81E+04 N/C Left 3.06

9. 53E+08 317 D.82 1.25E+04

1.67TE-27 5.11E-31 2.10E-06 1.30E-05

1.60E-19 1.60E-19 8. 99E+09 4. 99E+09



8. Where is the electrical field 1.25x10* N/C straight up in the
proximity of a 13.0 uC charge. (Location and distance)

5 6 T ]
10.0 N/C Morth EATEHI oseam 2.81E+04 N/C Left 3.06

9. 53E+08 317 D.82 1.25E+04

1.67TE-27 5.11E-31 2.10E-06 1.30E-05

1.60E-19 1.60E-19 8. 99E+09 4. 99E+09



9.1 am 2.15 m to the left of an unknown charge, and there is an
electric field of 1.65x10° N/C to the right. What is the magnitude and
polarity of the charge? (How many C, and 1s it + or -)

9 10a 10b 1 12
'B“""SE‘UE C {nepgalive 3 1 2 N-"HQ 348 N-"HQ fighl 4[”} e fwe ane ko its lefl ?29E+12 kg e field i= fo e el
2.15 1.60E+23 35 5 15
1.65E+05 1.85E+06 6. 40E+12 2. 08E-11 2.16

8.99E+09 B.ETE-11 B.ETE-11 B.ETE-11 B.6TE-11



10a. What is the gravitational field on the surface of a planet with a
mass of 1.60x10%3 kg, and a radius of 1.85x10° m?

9

'B“-‘-SE‘UE & (negative

2.15
1.65E+05
8.99E+09

10a
3.12 Mikg

1.60E+23
1.85E+06
B.ETE-11

10k "

348 Nkgright  4.00 s ieaemimen

35 5
6. 40E+12 2.08E-11
B.ETE-11 B.ETE-11

12

?29E+ 1 2 kg the field is fo the leh

15
216
B.6TE-11



10b. What is the gravitational field 3.50 m to the left of a (very dense)
mass of 6.40x10'? kg? (Magnitude and direction)

9 10a 10b 1 12
'B“""SE‘UE C {nepgalive 3 1 2 N-"HQ 348 N-"HQ fighl 4[”} i fwe ane i iks lefl) ?29E+12 kg e field i= fo e el
2.15 1.60E+23 35 5 15
1.65E+05 1.85E+06 6. 40E+12 2. 08E-11 2.16

8.99E+09 B.ETE-11 B.ETE-11 B.ETE-11 B.6TE-11



11. Where 1n the proximity of a 5.00 kg shot put 1s the gravitational

field 2.08x10-!! N/kg to the right? (Location and distance)

9

'B“-‘-SE‘UE & (negative

2.15
1.65E+05
8.99E+09

10a
3.12 Mikg

1.60E+23
1.85E+06
B.ETE-11

10k "

348 Nkgright  4.00 s ieaemimen

35 5
6. 40E+12 2.08E-11
B.ETE-11 B.ETE-11

12

?29E+ 1 2 kg the field is fo the leh

15
216
B.6TE-11



12. T am 15.0 m to the right of an unknown mass and there 1s a
gravitational field of 2.16 N/kg due to the mass. Which direction is
the field, and what 1s the mass?

9

'B“-‘-SE‘UE & (negative

2.15
1.65E+05
8.99E+09

10a
3.12 Mikg

1.60E+23
1.85E+06
B.ETE-11

10k "

348 Nkgright  4.00 e

35 5
6. 40E+12 2.08E-11
B.ETE-11 B.ETE-11

12

7.29E+12

15
216
B.6TE-11



13_Find the gravitational field atp and q:

120x10% ke

340108 m

(©)

5.10x10%m

3.60x10°m

9.40x10% kg
p —_
q —_
A 1.20E+24
B 9 40E+24
G 6.67E-11

(@

3.40E+06
5.10E+06
3.60E+06

gAp
gBp
gp

9Aq
9Bq
aq

-6.92
2411
17.18

-0.55

-48.38
-48.92

left
right
N/kg right

left
left
MNikg left



14. Find the electric field at p and q:

®)

12.0m

®

+4.50 uC

23.0m

-5.30uC

11.0m

(@)

4 50E-06
5.30E-06
8.9%E+09

12
23
1

EAp
EEp

EAg
EBqg
Eqg

-280.94 left

38.90 right

242 04 (left)

35.00 right

39378 left
-358.78 (left)



15. Find the electric field at point p. Draw the electric field vector, and label its magnitude and direction. Charge
Ais -320uC, Bis +2.40 uC. and each grid line is a meter.

P

A 3 20E-06
B 2. 40E-06
K 8.99E+09 Mag Angle Dir X j 1

Ea 2,212.52° 56.31 (+,-] | 1227.509 -1841.263
Eb 263700 45 (++) 1907.067 1907.067
o 3134.576 65804
P i i mag 3135 NIC
angle 120 degrees



16. Find the gravitational field at point p. Draw the gravitational field vector, and label its magnitude and
direction. Mass A is 2.50x1012 kg Bis 3.10xs10! kg_and each grid line is a meter.

A ZEO0E+12
B 5A0E+12
G B.6TE-11 Mag Angla Dir x Y

gA 1668 Ti6 (+4) 5273 15819
gB 37.80 l=ft [-0y -3780 a
Sum 32524 15.819
mag 362 Nkg
angle 259 degrees



